
Number Nitro 
Plus/QTY. DESCRIPTION

--- 1 ---
--- 1 ---
LK617b 1 S5SPO MA LIFT LINK
LK631 1 CAM BELT CLAMP
BF608B 1 PLUS SUPER PULLOVER FRAME
MA623b 1 Nitro Plus SPO MA
SF609B 1 S5 & S5 PO Seatframe
OPT-AW 1 Add On Weight Assembly
OPT-WT-05 1 WEIGHTSTACK ASSEMBLY #05
12-5557 1 S3 SPO FRONT PLACARD  (NEW LOGO)
12-5578 1 S3 SPO FRONT PLACARD  (NEW LOGO)
09-5045 3 NITRO SERIES MOLDED FOOTPAD
48-1095 1 TREAD STRIP ARMOR
UP8002 1 BACK PAD
UP8010 1 SEAT BOTTOM
07-9991 1 Weight Stack Shield Assy
19-1015 8 2" Square Duo-Loc
02-4153 1 SOCKET HEAD CAP SCREW, 5/16 -18 UNC x 1
09-3063 2 3/8" DIA HOLE PLUG
12-1296 1 RED DOT
04-5213 14 3/8" Internal Loc Washer
04-5214 6 ½" Internal Loc Washer
04-5225 2 ¼"  Internal Loc Washer
02-9250 1 3/8 -16 UNC x 2¼ Bolt
01-1090 6 3/8 -16 UNC x 1¼ Bolt
01-1524 1 5/8-11 UNC x 7 Bolt
02-9071 3 3/8 -16 UNC x 3¾ Bolt
01-1258 4 ½  -13 UNC x ¾ Bolt
01-1546 2 3/8 -16 UNC x ¾ Bolt
01-1550 1 3/8 -16 UNC x 3 Bolt
01-1551 1 3/8 -16 UNC x 3¼ Bolt
01-1565 2 ½  -13 UNC x 5 Bolt
S3TP 1 Nitro Seated Dip
07-5032 1 SEAT TRACK
06-8163 1 SNAP RING EXTERNAL
07-5033 1 SEAT TRACK BACK
07-9849 1 MOLDED BEARING CAP, Ti SERIES
07-9876 1 1" BEARING MOLDED FLANGE
10-1022 1 Extension Spring
09-3055 2 2 X 4 11 GA FRAME PLUG
09-4080 1 RUBBER BUMPER  OLD RB#1
09-3088 1 HOLE PLUG 2 OD X 1.5 ID X .75

1 Alloy Steel
--- 1 ---
09-8000 1 Belt Keeper
45-1062 2 1.005 ID BUSHING (IGUS REPLACEMENT)
17-1465 2 GUIDE ROD

Number Nitro 
Plus/QTY. DESCRIPTION

07-9170 2 BALL STUD
09-1103 1 1.69 ID X 10 OPEN END GRIP
09-2070 2 2 X 2 11 GA FRAME PLUG
09-1158 1 CHANNEL FLEX PVC 4" INSIDE
09-1004 1 .500 ID X 3" CLOSED END
09-2090 1 2 X 3 X 11 GA FRAME PLUG
09-3086 1 HOLE PLUG 2 OD X 1.5 ID X .75
09-8172 1 1 3/4 DIA HOLE PLUG
10-3035 1 SUSPA C16-18378
--- 1 ---
--- 1 ---
45-1051 4 .755 ID BUSHING (IGUS REPLACEMENT)
--- 1 ---
--- 1 ---
--- 1 ---
09-4076 1 BUMPER LORD J-11729-195
01-4038 1 BUTTON HEAD SOCKET CAP SCREW, ½ -13 x 2 

½''
02-1060 2 BUTTON HEAD SOCKET CAP SCREW, ¼ -20 x 

2¼''
01-4041 2 BUTTON HEAD SOCKET CAP SCREW,½ -13 x 

1½''
2 BUTTON HEAD SOCKET CAP SCREW

09-8330 1 REDIRECTIONAL PULLEY 4"
07-8363 2 IDLER PULLEY SPACER
07-4005 1 Efson PF1008
09-5030 1 FOOTPAD MOLDED BLACK
UP8024 1 LEFT ELBOW PAD
UP8025 1 RIGHT ELBOW PAD
07-9889 2 SHEETMETAL SHIELD
07-9883 1 PLUS BEARING HOUSING
--- 1 ---
07-9894 2 SPO COUNTERWEIGHT
03-1067 2 5/8" Lock Nut
03-5112 1 3/8" Jam Nut
03-9075 2 1/2" Thin Black Top Lock Hex Nut
03-1035 5 3/8" Lock Nut
03-2020 2 1/4" Lock Nut
06-8160 1 Snap Ring, 3/4" External
04-5207 2 WASHER, FLAT, ½''  SAE
19-1604 1 SEAT BELT
--- 2 ---
19-1604 1 SEAT BELT 54"
12-5611 1 Standard Nautilus Transfer Decal
12-1164 1 WARNING DECAL, MINI WEIGHT SELECTOR 

PIN
12-1380 1 MADE IN USA
12-1026 2 KEEP HANDS AWAY
12-1146 1 SEAT ADJ DECAL 1

Super Pullover
Parts ListDate: 02/11/07

S3PO

https://www.gympart.com/itemdesc.aspx?ic=ST11752&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS2250&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1473&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10856&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1360&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1089&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1055&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1423&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1421&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10417&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11547&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1563&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1338&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10638&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1182&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1350&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1497&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX1069&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1482&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10878&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1542&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10427&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1822&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1015&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1015&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1359&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1132&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1071&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LK617B

07-9889

08-6025

06-8160

BF608B

LK627
Teflon Grey

17-1465

24-6035
77" LONG

07-8363

09-8330

07-9269

UP8024

UP8025

07-9894
Long Bake

07-9365

FL604

S3TP

SE608

SF609B

FL603

07-5033

07-5032

02-1060

02-1060

10-1022

09-3088

09-5030

07-9170

07-9170

07-4005

LK631
Black

10-3035

06-8163

07-9876

07-9883

09-1103
09-3086

09-4080

09-1158

45-1051

07-9370
09-4076

45-1051

07-9473

07-9473
19-1604

19-1604

MA623B 12-5557 (DECAL)

19-101545-1062

45-1051

45-1062

OPT-AW
Black or

Grey

07-8982
Black (2)

12-5578 (DECAL)

07-9991

48-1095

UP8002

UP8010
09-5045

SE607 (HIDDEN)
DOUBLE LOCK

01-1524

01-1565

09-2070

09-2070

09-5045

04-5213
02-4153

01-1090

01-1090

01-4041

04-5213

04-5213

01-1258
04-5214

04-5214

01-1090 04-5213

04-5213

02-9071

04-5207

01-1546

12-1296

09-2090

01-1550
04-5213

03-1035

09-5045

09-3055

03-1035
04-5213

01-3215

03-1035

04-5213

03-1067

09-3055

03-9075

03-1067
04-5213

09-8000

03-5112

01-1258

04-5214

12-1146

12-1164

12-1380

12-1026

12-5611

____ Trollies / Machine
RED: PAINTED ITEMS

SUPER PULLOVER
Parts Diagram

Nautilus Nitro 

Last Rev Date: 01/30/07

S3PO

https://www.gympart.com/itemdesc.aspx?ic=ST11752&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS2250&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1473&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10856&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1360&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1089&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1549&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1055&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1055&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1543&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10400&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10400&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10854&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10417&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11547&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1563&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1338&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10638&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1182&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1350&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX1069&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1482&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10878&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1542&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10427&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1822&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1015&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1015&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1019&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1359&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1359&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1359&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1132&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1132&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1071&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1071&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

